ES/15(/120909 Rall No.
PAPER-I :
(WORKS ACCOUNTS FOR FLECTRICAL CANDIDATES)
Time Allowed: 3 Houre Mzx.Marks : 200

Wete:- - Atlempt &l the questicn #n¢ perl of 5 guesticn must ke
stlempted conlinucus. &t one place.
Rough werk should be cene on the epace provided for in the
answer cheet &1 pape No.z.

Q. 1 Prepare the £nnual Esumeate ¢f vehicle and work out rate per k.m. for
Board's works znd private use from the datz given below:-

1. Life of vehicle = 7 Years

2. Cost of vehicle = Rs.5,50,000/-

3. Estimated Annual Mileage = 60000 K.m.

4. Value of Garage = Rs. 50,000/

Direct Charges Annual

1. Employee's cost = Rs.1,00,000/-

2. Repair/Minor Replacement = Rs.25,000/-

3. Repair/Mtc. of Garage = Rs.10,000/-

4. Petrol/Qil/Lubrication & = Rs.90,000/-
Insurance

Indirect Charges

1. Depriciation = 33.40%

2. Interest = 12%

3. Supervision Charges = 10%

4. Departmental Charges = 27.5%
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1. uATEt (Depriciation) = 33.40%
2. femmy = 12%
3. 2YdY (Supervision Charges) = 10%
4, fegat wew (Deptt. Charges) = 27.5%

Marks = 20

Q.2 (a) . Wirite Short Notes on :-
i) Administrative Approval & Technical Sanction.
" ii) Stock Return Warrant & Store Verification Report.
(b)  State the procedure for raising of IUT Bills and its acceptance. Can an IUT

Bill be accepted partly?
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Marks = 2X5+10 =20

Q.3 (a) Distinguish between Deposit Work & Contributory Work .

(b) How the amount of Labour shall be calculated, if the Deposit Work is executed

through regular labour ?
(¢) Define different kinds of Repair . Differentiate between Repair & Maintenance .

(8) foufiye o1 3 dedtfafedt cea e ot wize 3 ¢

() FeE fourfae T9a = & Sawe Bue odt weefenr A 3f Bu9 € gaM fae”
amade oist At 7

(®) Wang Short famet 59 e w9 1 HIHS WS Fig Hes T ot nisa 3

) Marks = 2X5+10= 20
Q.4 (a) Distinguish between Revised Estimate & Supplementary Estimate ?

(b) Indicate head of alc of the followings :-

i} Recovery on alc of burnt meter. i) Temporary Imprest

iii) Advance to Supplier (Capital) iv) Net Salary payable to regular staff.
v) Repair & Mtc. of 11 KV lines. vi) Uniform & livery expenses.

vii) Provision for Depreciation - vehicles. viii) GPF

ix) Cheque issued alc. x) PSEB Diploma Engineers

Benevolent Fund.
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Q.5 (a) What is completion report ? Under what circumstances it is prepared ? Can completion
report be used as revised estimate ?

(b)  Write short notes on :-
i) G.R.Note.
i) Operation & Out turn.
iii) Capital Expenditure & Revenue Expenditure.
iv) Stock cards.
v) Office contingency & Work contingency.
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ES/10/120909 Roll No.,
PAPER-1
(WORKS ACCOUNTS FOR CIVIL CANDIDATES)
Time Allowed: 3 Hours Max.Marks : 100
Note:- - Attempt all the question and part of a question must be

attempted continuously at one place.
- Rough work should be done on the space provided for in the
answer sheet at page No.2.

Q.1 (a) Describe the procedure of preparation and authorisation of Store Requisition
{SR). What checks are required while preparing the SR 7
(b) What are the direct and indirect expenses for which provision is made in the
estimate for (R & M) running & mtc. of Board's vehicles for Board work & other
than Board work 7
(8)req fagvins fanre awa w3 niaely aes o yfepwr St fenrfimr =§ |
AR, WUgE 96 AN faodind &iet e fimrs due gt & 7
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Q.2 (a) What information is required to be incorparated in [UT Bill ?
(b) From the following data calculate the Opening Balance of Cash Book of P&M
Divn. Moga :-

i} Legal Currency notes = Rs.3300/-
i)y Fake notes = Rs.200/-
i) Coins = Rs.10/-
iv) Revenue Stamps = Rs.15/-
v) Demand Draft = Rs.2100/-
vi) Postal Stamps = Rs.95/-
vii) Self Cheque = Rs.300/-
viii} Postal Order = Rs.145/-
ix) Cheque issued in favour of contractor = Rs.1500/-

"Deposit at call receipt Rs.1100/-
(ﬁ') mgmﬂ%%%mmm%rmﬂw?
(W)_ﬂa%&éﬁ%aﬂ%ﬂﬂmmﬁmeﬁ@ﬂmmwaﬁ:-

i) v wdHt &2 = 3300/-gu@
iy Wt ae = 200/- guB
iy i = .10~ U@
iv) Srtetfeaer = 15/- que
v) fouis suee B 2100/- qu#
vi) I feaet = 95/- quE
vii) Ree ¥ = 300/- quB
viii) UFes nmrasq = 145/- gug
ix) 3d=9§ At I I = 1500/- gu
x) fsuwe as e = 1100/~ Fu&

Marks = 10+10 =20
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Q4 (a)
(b)

Define the followings -

i) Advance Payment.

i) Deposit Work.

iii) Works Expenditure & Work Outlay.
iv) Major Work & Minor Work.

v) Storage Rate & Storage Charges.
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Marks = 5x4 =20
Describe briefly the procedure of preparation & checking of pay bill of
workcharged/ Daily Labour Employees.
The amount of unpaid wages of Workcharge Establishment is entered by the
JE in the Muster Roll. Comment.
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Q.5 (a)

(b)
®)

Marks =15+5=20
Wirite Delegation of Powers:-
i) To Sanction Deposit Work.
iy Divert provision for contingencies of sanctioned estimate to repair work not
provided for in the estimate.

i) Technical Sanction to detailed estimate for preliminary to preparation of

schemes.

iv) Technical Sanction to detailed estimates chargeable to main project

estimate administratively approved by the Board.

Write a brief note on Standard Measurement Book.
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ES/200/130909 Roll No.
PAPER-II
(COMMERCIAL ACCOUNTS FOR ELECTRICAL CANDIDATES)
Time Allowed: 3 Hours Max.Marks : 100

Note:- - Attempt all the question and part of a question must be
attempted continuously at one place.
- Rough work should be done on the space provided for in the
answer sheet at page No.2.

Q.1 (a) What is procedure adopted for remittance of Board's money into bank &
precautions to be taken regarding this 7
(b) What is the procedure for refund of Security deposited by the consumer for
Temporary connection ?
(¢) Write short note on Service Register .

&) ¥us T IR § Fa v Wy amege @ fedt 6 w2 wid my soolE 3
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fedt &5t 72
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Marks = 8+7+5 = 20

Q.2 (a) "Explain the procedure o be followed for disconnection of Power supply of &
consumer due to non payment of bill .
(b) Can the recovery of amount of late payment surcharge in respect of energy
bills be waived off ? If so under which circumstances, it can be waived off & the
power of authorities to waive off such surcharge.
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Marks =10+10=20
Q.3  Write short note on the followings:-

*i) Connected Load ify Service Connection Order
jii) Contract DemanD iv) Sundry Charges & Allowances Register
v) Distinguish between BA-16 & RO-4.
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Can Service Connection Charges deposited from prospective consumer be

refunded ? If yes , then explain under which circumstances these can be
refunded.

Can an Electric connection to a tenant be released in the absence of consent from
the Landlord ? If so,discuss the procedure to be adopted for release of
connection to different category of consumers.

What is normal validity period of Demand Notice for different categories of
consumers 7
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Marks = 8+7+5= 20

Is there any time limit for verification of Test Report ? If yes then what is the Time
Limit for verification of Test Report for different categories of consumers?

(b) A Board Employee is on deputation with Punjab State Electricity Regulatory

(c)

®

(nf)

®)

Commission, Chandigarh & residing there. Is Electricity concession admissible to
him and if yes then in what shape ? Explain.
Prepare an energy bill of a Board Employee residing in rental accommodation, with
the help of following data :-

i) Basic Salary = Rs,12,500 p.m.
ii) Sanctioned Load = 10 KW
jii)- Type Of Meter/Connection = 3 Phase
iv). Reading as on 1.4.09 = 9793
Reading as on 1.6.09 = 873

v) Status of Meter - Dead on One Phase
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